Is it ‘s’  or ‘es’ ?
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Which is the right word?       Cross out the wrong word.

1. The man had three ( patchs, patches ) on his jacket.

2. There were ( splashs, splashes ) of paint on the wall.

3. At the dock were three ( ships, shipes ).

4. The cupboard was full of ( boxes, boxes ).

5. His mum gave him lots of hugs and ( kisss, kisses ).

One bush   -   lots of ___________________

One latch  -   lots of ___________________

One wish  -    lots of ___________________

One ant   -     lots of ___________________

Choose 2 plurals and write a sentence using each one.

